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Intro

Today we will n”va learn X°p 7 of M2’ NooN

27 holds

DU MNP DwIn

PUPR APRITIP NI0P

The marriage of a nwIn> 7y is that she is only partially
married to him 132771

The marriage of a i mavpb 917 is that there’s a poo
whether they are fully married 12297 or not at all

The 7in a case where a person was married to 2 wives
DIop nmin’ nw

DwaIm nIvp

nWIM NApo

0P T

And he died and then his brother was ba1» one wife and
then that same brother or another brother was 0a7» the
other wife

The y7in a case of

mI0p I HY RIW P D
And a case of

19173 2 SY RAW [P DY

The p7in a case where
Y23 RS O D'WHY N2 TIBRY DD

Dedicated By:

DafHachaim.org

nIvY
nMp
MR NN

NN
nMmp
NP

Thetina case
where a person was married
to 2 wives

N2 INPD . MLVP MY NY
MLYPT NYIM NWIN MYP

Jop D2

W ol

;T NN

Jop D2

W ol

navp NN

01 DYWHW N2
"nHYY21 R

Yevamos 111 -1



NP AT M

Dedicated By:

So let's review

In the previous Daf we learned

nwIMm MIvP

1287 was married to 517 who was a miop nmi, and to RS
who was a nwan, and he died childless. 781 57 both fall
for Yibum to his brother pynw.

NI NIVID D NNR DR’ PR

The Yibum of one does not release the other.

And the X explained that this is because

75 RMIMOPL R PYT RY

mp>7 5535 RNRT

75 RMI DWIND R

RO7I IR N2 AT

As Rashi in the Mishnah explains;

75 RMIL YT RS

D0 INWR 120N M

We don’t know which one he prefers, and the one he
prefers is considered to have a stronger mw K, since both
of them are only 13277, and the 1%'5m D2’ of the weaker
one does not release the 1 of the stronger one.

The x) asked

1PN TR

What's the solution?

279K XTOMN 27 DR

VI IRIN NWINT OND

He does 2’ with the nwan and gives her a v).

PISNM D TI0W TY PIon 7I0p)

And when the mvp becomes a 1717 and eligible for nx°5n
he does n¥°5n with her.

DafHachaim.org
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MO RMINYWIN2R - 1Y RN MVP2 R
R AR N ANTAT  DYOT D9 RONRT

DV IDEH DIEN D) O HNN 03 Y7 H
and the N5N) D1 of the weaker one
does not release the )T of the stronger one

21PN T

P2 IME £F0p 52

nmovYY D1
PTINW TY PNNN nWwINN
RIONNY TY V22 NRININI
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There are two ways of understanding this omon npn:

_]_

DV IR

It is a partial marriage.

-2-

IR YRR

Itis a pxywi poo, doubtful whether she is fully married or
not married at all.

Now, based on the Halachah of nwm nivp in our mwn» on
K"V "> q7, and the Halachah of nwam mvp in the next miwn
on 2"y Rp q7, we must say that

DwIm NIOP;

One of them is nwm Ip.

And one of them is 71p 7YRI IR,

But they cannot both be the same.

However, based on the nyiwn, it remains inconclusive
which is which, because the nyiwn» can be explained either
way.

However, based on Rav’s mipn, Rav Chisda concludes
that;

NPIWP IR NWIN

IR PRI IR TIOP

And explains;

Rav said;

VI AIRINI NWINT O

PISAM Y TNW TV PRnn 0

punw must do 02> with the nwan, because she certainly
has a 771, and cannot do n°5m. Chalitzah with the miop
will not release the nwAn, because of the possibility that a
7I0P 1S 1P IR, that she was never Ruvain’s wife and has
no 7. Shimon must then give the nwan a Gett, because
the later Chalitzah with the mvp will make the nwan Assur
because of M3’ R> 1w M2 ROYW 1.

Shimon must also do 7%°>1 with the 730p, because of the
possibility that a 3op IS 713p, that she WAS Ruvain’s wife
and has a 7’1, Yibum of the nwan does not release the
mop, because the weaker Zikah of nwim mip cannot
release the stronger Zikah of mip.

DafHachaim.org

oo a2 haa different undorstunding of
NWIN NIV NIV
hR(a)

2 1
nmp
M IR
/cé'{g/')&a

n’up
DMYMI)
Partial marriage

Based on the Halachah o% A1 Yp
oy 9&/@@/% f/&&wﬂ‘yﬁ/\/
We must say that DWIM NIDP;
One of them is NMWN) NP
And one of them isMJp NN MP
However, it remains inconclusive
which is which

However, based on Bav’s Y
Bav Chisdw concludes

nop
MR DR NP

PNNN NIV :NWINN DD
NIONM 1 TIANW TY She has anp',

Because of the possibility  and cannot don¥bn
that anvp ISMIp,
and has anp1

nwIn
nPMOM P

Chalitzah of the navp

' will not release the nwin,
Yibum of the DWIN

does not release the NV
because the weaker Zikah
of MW, MIp
can't release the stronger
Zikah of M.

: 022 NRININDI
The later Chalitzah
with thenvp

will make theHWIN
Assur
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Rav Chisda’s point is proven, because if the nwan is

IR NPRITNR

He would not have to give her a v after doing ™2,
because w1 Y,

R IR R

Then she is a 2’ who is 9m» to him, and the Chalitzah of
the mvp does NOT disqualify her.

RO IR IRD R

Then she was never Ruvain’s wife, and she is amn to
Shimon like any other ordinary woman.

But since the nwanis

NP IR

Therefore, once W does nx°5n with the 730p, he must
give the nwan a vy, since it's possible that the mvp is p
and needs a 7¥°5m, and the 73’51 to a 2’ makes all the
other wives 7OX to the 0.

The X2 adds that we cannot say the same thing about the
mvp that since she is 713p 7R 1R he should do 012’ with
her, and he would not have to give her a v after doing 12’
because w1 MY,

R PEPOR

Then she is a 712’ who is 9m» to him

R PIP IND R

Then she was never Ruvain’s wife and she is 1mn to
Shimon like any other woman

Because then

?19°7 72 NWIN

Pu»w is unable to do nx*5n with the nwn as we learned
that nx°>n cannot be done with a nwIn

And py»nw would be unable to do o2’ with the nwan,
because he already did 02 with the 710p who may be mip,
and once 012’ is done with one 72, the other m»1’ become
oK to the 02, because of o'na 1w

The X313 supports X701 27 from a Xn»72 that
NP PR DWIN
IR APRINR MOR
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If the NWIN is NP NPXY NMP
he would not have to give her a v
after doing 2’

20

R0 NMp IND X R AMpP R
Then she was never Then she is a2’
Ruvain’s wife, who is 90 to him,
and she’s IMnN to NYNW and the Chalitzah
like any other of the Mvp does NOT
ordinary woman disqualify her

The ,é’?/%é M//y
we cannat say the same 7‘/%'44?/ about the 4
that since she is n"Mp NPRI NMP
he should do o2’ with her,
and he would not have to give
her a V) after doing m2

20 W

RN MR IRY R
Then she was never
Ruvain’s wife
and she is 9MM to Shimon
like any other woman

R NMp R
Then sheis ann
who is 9 to him

%’)/&’/) DM »bop
22/ canndt be done
Wil /V a »tp
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. The x) proceeds to the next mwn that presents 4 cases
with 2 possibilities in each case, and we'll explain the -3')/@\/
Mishnah as Rashi explains it according to X7om 1
110N 7T VPRY

) MIvR MmN NS W1 P M NN - PP NI NS w3 e
J12187 was married to X% 517 who were both miop mmir, MNNam ‘71} 09 N9y

i , and he died childless.
amarriage 132770, and he died childless gy ‘717 VAN NIYIN il ‘71; NSy T

INYRITOY 0 R

And his brother pynw was 57 0270
TIN5V R WM Ry wow

30N YY PAR RIW IN \ /,:79/«/ /m;ﬂ \\ o G
And then wnw, or another brother 15, was RS D271 S~ * oL -
AR DR YOO RY RN 1 51? N 51?
wpw may remain with 5na. 2P 2P 2P 2P

Since miap NrRI IR MvP, both are equally a poo. There-
fore, if 1p, Rochel’s was a valid Yibum, and Leah’s was
o'n2°1w MRy, and Leah indeed cannot stay, but Rochel
does not become 77oK because of it. If 71 Ny, they are
both strangers to Shimon and both may stay.

mNNIT PN 50D N
Since dyp k1 yp 9@,

bothy are W @ poo

mwIN nw N

And the Halachabh is the same if 7185 517 were mwam, but
. with a different explanation.

Since nmwm ip nwan, they were both partially married

to Ruvain and have the same degree of Zikah. Therefore, nwan N Z:‘

Rochel’s was a valid Yibum, and Leah’s was "1 mo'r2

o'n3, and Leah indeed cannot stay, but Rochel does not

become T1ox because of it. \ \ Y ~
“ \\/2’;” VY ackad [N VA ol

~ * S

N -~ -
~~»nxY "2om xRy > o

ﬁ€7ﬂ /)é?/) /)é?/) _/)é?/)

NI NN Sop &b
Since VYLV P o,

f/»e?/ were both /wfﬁa/%/

married to Buvain

and have the same /egrw
% %

A
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Dedicated By: DafHachaim.org Yevamos 111-5




Np

o |
Vecheskel
Dedicated By:

D 5T MY

The mwn proceeds to the next case

nwIm MIvp

If 12187 was married to 517 who is a 30 o, and to R
who is a nwan, and he died;

mIvpn HY 0’ X2

And his brother pynw was Sm0a7n

nwInn HY RN

DWANA HY PAR RIW IR

And then py»w, or another brother 15, was RS D27»
ORI IR Yoo

Rochel becomes 77ox to Shimon.

The Gemara on Amud Aleph explained that she would be
PI79°vn Imn, because she's a mvp who is Ip 7PN IR,
as explained earlier - but she’s "OX because of a 771 that
if she is 9m» we may make the next case of

nwINabY 02 X1

amn as well, when it's actually mox as follows:

nwInn Yy D2 K2

If pypw was RS 01710

mI0pn Sy R WM

7I0PA 5Y PR RIW IR

And then ny»w, or another brother 15, was 517 0a7;
nwInn nR Yoo

Leah becomes 710K to Shimon 177 9°V1, because she’s a
nwIn who is nwm iip, and Rochel is a mvp who is
iR nYeR PP, and ifSnn is 7Ip, Rochel's stronger Zikah
and Yibum is a valid Yibum even though he already did
Yibum with Leah who has the weaker Zikah, and then
Leah becomes 710K because of o'na w.

DafHachaim.org
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we W&

»p> /f PR £
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nYanm Sp oaY NS
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' LA 1 v 0
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75)
s~~___ S m=”

nwanm NN Sop
Because of) /o> M/SJ\%'),
Rochel's stronger Likah and Yibum
i valbid Yibum
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The mwn proceeds to the next case

nwIm nnpo

If 12187 was married to 5n3 who is a nnpo, and to I85> who
is a nwan, and he died;

nnpon Sy 02’ K2

And his brother pynw was S 027n

nWINAYY R T

DWANN HY PAR RIW IR

And then py»ow, or another brother 115, was 8> D27n
nnpon nR oo RS

The o2 of Sn7 is still valid even though this 7o' was
done with Leah, because,

The v of Smais nmnn o,

And the 7t of IRY is only 32770,

nwINn Sy D X2

If pyow was IR> 027D

nnpon Sy R

NPT HY PR RIW IR

And then pw»w, or another brother 15, was 517 0171
nwInI NR Yoo

Since the np’t of 5P is 79NN »

And the npt of RS is only 132970

Nevertheless, bn1 may not stay either, because 133970, her
012’ was T7OR because of o'na nw.

DafHachaim.org

ol algibalateh
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\ 1, poosw s p 1 DN
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nrpam N Sop 89
Since the zcéaﬁ/ % 0
@ 20> p,

And the Likah ofp 3/
o Wb%/ / YPIIN

neAnn Oy oY N3
NAPER SY AR NSW R NNPER 9P KDY M

|| i »/,:79/7 »rl//\a/// ‘/,:79/7 g\wa//\/

2 Py
N Y om
o ’,v/)/oa

-
Y
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c—m=

nYAnE AN Yo
Since the Jikakvof o
'w;)w@//«/,

And the Likah of >/
W anfy v YN
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The mwn proceeds to the next case

0P T

If 12187 was married to 513 who is a 15173, and to N8> who is
anmn mop, and he died;

MYy 0 N2

And his brother pynw was S 027n

7I0PN Y R WM

30PN HY PIR RV IR

And then py1»w, or another brother "5, was nx> 02a7n
191737 DR 509 RS

The o2’ of Sn7 is still valid even though this 7o' was
done with Leah, because,

The 11 of b is i o,

And the 7t of XY is only 32770,

30PN HY 0 X2

If puow was IR> 027D

T 5P R T

AT Y PIR R2W IR

And then py»w, or another brother 15, was 517 0271
ORI IR Yoo

Since the 1>t of S is 7 0nm

And the 71 of IRY is only 32770,

Nevertheless, 511 may not stay either, because 3397, her
D12’ was TOR because of 'n2w.

TR MYOR 727

12 IRDOW 7I0RN PIRN

MY5R 117 says that we teach RS to do R so that her
whole 012’ is completely voided as if it never happened,
and this way py»w may stay married to 5.

DafHachaim.org
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moyam PN Sop &b
Since the Jikah aﬂéﬁa
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And the Jikak af 2/
W on%/ ¥ ate/
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The X proceeds to the next mwn

VP DT HY RIW O DY

If 12187 was married to 5m7 who was a mivp that was
married off by her father, a marriage Xn»x7, and j21x
died without children, and his brother py»w who was a jop
was 517 027D

™ oY MY

If pyiw wants to divorce her they must wait until they
become adults

The mwn continues

TP Yy Ra

baplsl

So too, if pynw who was a jop was S 027 who is a i)
If pyiw wants to divorce her they must wait until he
becomes an adult

The X2 explains that from the case of

15N AT D Yy XA

Which means that they may live as husband and wife, we
see that ™2 of a jop is a valid Yibum.

Although the Pasuk says that the purpose of Yibum is
Dw YRR O

RI71 797 92 IRD R

The jop cannot father a child?

The X2 presents 2 answers:

»IR derives it from the Pasuk

oY RY DD

75

Any Yavam can perform Yibum, even a minor.
N1 derives it from the Pasuk

ttop o
oy e
e 'an/-. P e

Moy maHe
If poow wants to divorce her

they must wait until they become adults

83

4 NN ayARtEatasy

Y

“ ]
> bl
D/ZE

2

The Pasuk
the purpose oﬂé MZ&

oty vﬂN’: n*'vh’:

7L/ D 20 /{-’ﬁ@/
pA 1
A9 nal

YT AR 120 2D ik NN 7:*?" D ﬂ"’?}) N:” o

TAR OV ]2 199K
Any brother may do Yibum, even a minor.

TNR O 12197DR NT 91
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‘ However, 7r» 17 disagrees, and teaches;
IR TOP .
P15 RO PR9IA RS iy > disagrees,
Because, the jop might grow up to be a ©70 who is 1o and 1 A
xS oD -
And the 7307 might grow up to be an 35”R who is 1Mo ﬁJDP\ IDP
x5 D)

PN 89 189 RO

The)vp The NIV
might grow up might grow up
to beaD"D to bea DOYN
who is who is
NN5N) DI MWD NNOM DIy MWD
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